



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

RLE Events

Description		Qtty	Price		Total
	Coffee Tables - Palm Springs - White Wire W/ White Glass Top	2	\$250.00	Т	\$500.00
	Palm Springs Club Chair - White Wire	4	\$200.00	Т	\$800.00
R	Accent Table - Miami - White Loop	4	\$95.00	Т	\$380.00
	Ottoman Pod 18"D in orange, turquoise, purple and yellow	8	\$65.00	Т	\$520.00
	Accent Pillows	20	\$45.00	т	\$900.00
	Palm Springs Small Bistro Table - White Wire w. White Glass ^{30"D}	3	\$250.00	Т	\$750.00
8	Palm Springs Accent Chair - White Wire	12	\$85.00	Т	\$1,020.00
	Palm Springs Stand Up Table - White Wire w. White Glass ^{30"D}	5	\$200.00	Т	\$1,000.00
	Santorini Barback - Large Floating Shelves w. Inserts clear plexi inserts 5'W x 18"D x 8'H	3	\$325.00	Т	\$975.00
		Tot	al Lawn & Pool A	\$15,370.00	
Tennis Court					
A	Amsterdam Barstools - White	20	\$18.00	Т	\$360.00
·	Truss Covers - STONE Lycra	1	\$8,575.00	Т	\$8,575.00
	Ceiling Fabric - Grey Taupe Linen (7) Pieces 110'L x 5'W to provide shade for guests	1	\$14,500.00	Т	\$14,500.00
	New York Bar 6'L - White Frame Client to cover fronts and sides with decal artwork	4	\$850.00	Т	\$3,400.00
	New York Bar 8'L - White Frame Client to cover fronts and sides with decal artwork	2	\$950.00	Т	\$1,900.00

Description		Qtty	Price		Total
	Santorini Large Floating Barback - White 5'W x 18"L x 8'H	6	\$220.00	Т	\$1,320.00
	Nantucket Round Coffee Table - Large White 40"D	2	\$250.00	Т	\$500.00
	Hidden Garden Wire Circles Chair (2) in Yellow with Yellow Cushion (2) in Purple with Purple cushion (2) in Orange w. Orange Cushion (2) in Turquoise w. Turquoise cushion	8	\$95.00	Т	\$760.00
	Hidden Garden Straight Wire Chair (2) In Yellow w, Yellow Cushion (2) in Purple w. Purple Cushion	4	\$95.00	Т	\$380.00
	Ottomans - Standard Pod (4) Yellow (8) Orange (8) Turquoise (4) Purple	24	\$65.00	Т	\$1,560.00
	Accent Pillows - Kidney Only (6) Yellow (6) Orange (6) Purple (6) Turquoise	24	\$40.00	Т	\$960.00
	Palm Springs Small Bistro Table - White Wire w. White Glass	3	\$250.00	Т	\$750.00
	Palm Springs Accent Chair - White Wire	12	\$85.00	Т	\$1,020.00
	Tokyo Communal Table 10'L - White with White top	2	\$275.00	Т	\$550.00
			Total Tennis Court		\$36,535.00
Services					
	Installers: Install Wednesday	8	\$500.00		\$4,000.00
	Installers: Install Friday	6	\$500.00		\$3,000.00
	Installers: Touch Ups Saturday	2	\$300.00		\$600.00
	Installers: Strike Tuesday	8	\$450.00		\$3,600.00
	Trucking: 16'L Stakebed ONLY	5	\$550.00	Т	\$2,750.00
	Certificates: Flame Proofing	1	\$950.00		\$950.00
	Manager: Onsite	1	\$1,450.00		\$1,450.00
	Manager: Layouts & Design	1	\$1,650.00		\$1,650.00

Description	Qtty	Price	Total
Supplies: Misc	1	\$1,250.00	\$1,250.00
Please make checks payable to Revelry, Inc.		Total Products:	\$54,063.00
Note: Drive to delivering and viely upped linusings must be new in full	Total La	bor/Services/Misc:	\$19,250.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Taxes :	\$5,397.24
, ,		Discounts:	(\$0.00)
Notes SMALL TRUCKS ONLY		Total:	\$78,710.24
SMALL TRUCKS UNLY		Payments:	(\$78,710.24)
		Balance:	\$-0.01